R 7 Hk REHMER RETHEN RFEabLHE (BEERESR)
TFE - FER - AR Biks HAL Hok i &
ELHE T GEREXIE)
1. ARAEL
(1) HRAE T
AT =X 1. 000
a7 J— MT&R 18-12-40 (Fi47) m3 32. 300
AR T — R ot 33. 100
R 7 ) — NTER 18-12-40 (F47) m3 2.900
FIAkE LB (F o) Fovrs nf 11. 800
s FI AT nf 11. 800
FLm ARk m 10. 500
HAAm 1 gi,g?ﬁﬁ” - i m3 9. 000
HE A 1 ;Eg?ﬁf” - i m3 23. 000
LT SD345 D19 kg 29. 700
a2 U — MHIFL 30mmLA = 200mmA i fL 33. 000
RS (v >y butr—2) m 17. 600
IR AR L X 1. 000
KRBT (R 7 OHaft - figk) & T 1. 000
KERL (R v 7 idiR) TEFFHEK A 30. 000
K E X 1. 000
HE RS nf 64. 600
K E ¢ 600mm m 71. 000
& INS A =X 1. 000
FemamE (R ) i”ﬁf&ﬁ%‘@%@’ BECL o 86. 000
KA (% 1-45) i”ﬁﬁﬁ%‘@%ﬂ’ BT 86. 000
MY (% L) N ATRRIEOROA, WL | g 86. 000
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R 7k WHEHER: RETHEAN REmETHE

(BB FER)

TFE - AR - Biks HAL $oR i &
X7 Ty 7l (1) 7. 9km m3 86. 000
X7 Ty il () 7. 9km m3 86. 000
G 3INS TR X 1. 000
BB (et T HIERIEORE BB g 377. 000
W] (7% 145) i—xﬁm%w%g&@g m3 377. 000
W] O THR) i—xﬁm%w%g&@g m3 377. 000
ZoT N7y il (FE) 7. 9km m3 377. 000
XoTNT W () 7. 9km m3 377.000
i X 1. 000
F b 1 N RIRARIEORUA, B | 53. 000
Wt (7% 145) i_f@%%@%@ﬁ%g m3 53. 000
K+ 5 T e - E S 75. 000
KB+ T = R 75.000
X7 NT o E (FEEK) 7. 9km m3 60. 000
X7 NT o E () 7. 9km m3 60. 000
PERERMLEE (BE7 T AF » 7) X 1. 000
BET T AT v o JLE BT AF v m3 2. 800
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